1TxR(SH2HEF

Ly RVES - BEBEBEFCINT T, FUSBTERECERDLECSNEE).

Bfd B8 | =992 LyRAV& - Lk BRF[E B4 - {78
3 B 3 B|8|B]|Fr-—ZYIEH3 = e 1030 ~ 11:00 [SHIZUMA¥% = i
3 A 3 B8|B8]|8B HIT&ABS45 = e 11:30 ~ 12115 [SHIZUMA% = i
3 B 3 B|8|cC XLl =  IANYHIRYR | 18300 ~ 1345 | #0427 = AYU
3 B 3 B8 | 8| C|roz—vyzryTad = PUOFT+T7270-37 EEORERVVEN 5127 =  AYU
3 B 7 B|K|C 37145 = SRIFERG0 1030 ~ 11:30 =  misa
3 B 7 B|K|C 3460 SRV 1150 ~ 1235 =  misa
3 B 9 B|zx|cC R—Y vy DIy = EEFL 1445 ~ 1545 | MIZUKI = shoco
3 B 9 B|zx|cC J0-34 = EEFL 1605 ~ 1705 | MIZUKI = shoco
3 B 10 8| 8] A IS5IR = NU kY 1025 ~ 1110 | #&ED = Takamatsu
3 B 10 8| 8| A ZUMBA = JAZZH V2 1135 ~ 1220 | #&ED = Takamatsu
3 B 10 8| 8| 8B DISCO MIX = S5FYIPO 1245 ~ 1330 | #&0D = PR
3 A 10 8| 82| 8B BE.-ERRE = BREEIA 1355 ~ 1440 | #&D = PR
3 A 11 B8|A|C R—Y vy DIy = EEEL 1300 ~ 1400 | MIZUKI = MANAH
3 A 11 B8|A|C J0-34 = EEEL MIZUKI = MANAH
3 A 14 B|K|C 37145 = RE 1030 ~ 1115 = X
3 A 14 B|K|C 37360 = RE 1135 ~ 1235 = X
3 B 17 Bl 8| C X bal =  IANYHIRYE | 18300 ~ 1345 | #0427 = AYU
3 A 17 8| 8| C |tox—vyzPyTan = 70?477:1—573 S«1427 = AYU
3 A 21 B|K|C 37145 = RE 1030 ~ 1115 = FAEVEH
3 A 21 B|K|C 37360 = RE 1135 ~ 1235 = F@EVEH
3 B 28 H|K|C 3445 = RE 1030 ~ 1115 = FREVEH
3 B 28 H|K|C 3460 = RE 1135 ~ 1235 = FREVEH
3 A 3 #8|x|cC R—Y vy DIy = EEZL 1445 ~ 1545 | MIZUKI = shoco
3 A 3 #8|x|cC J0-3A4 = EEZL 1605 ~ 1705 | MIZUKI = shoco




